1]

[static boolean is(int x) {
Mreturn x%400==0 || (x%4==0 && x%100!=0);
0

[static boolean is(int n) {
[Mif(n==1)

[ITreturn false;

[ffor(int i=2;i*i<=Math.sqrt(n);i++)
[ITif(n%i==0)

(IITreturn false;

[Ireturn true;

0}

public class [T1T] {

Opublic static void main(String[] args) {
[[boolean[] is = new boolean[1000005];
([is[1] = true;//trdB[111]

for(int i=2;i<1000005;i++)

[ITif(tis[2])

[MITfor(int j=2%i;j<1000005;j+=i)
[II1Tiis[j] = true;
[[ISystem.out.printin(is[20041);

0}



01

public class _01[1] {

Opublic static void main(String[] args) {
[[IScanner in = new Scanner(System.in);
[[int m = in.nextInt()[1]

imt n = in.nextIint();//10]

imt[] dp = new intim+51;//(ITT1111T]
for(inti=1;i<=n;i++) {

(ITint v = in.nextInt(E/1]

iMEw = in.nextInt();//110]

fOfint j=m;j>=v;j--)

(II1dplj] = Math.max(dpljl, dp[j-vl+w);
ik

[[ISystem.out.printin(dp[m]);

0}

import java.util.Scanner;

public class [T1T] {

Opublic static void main(String[] args) {
[[IScanner in = new Scanner(System.in);
[Mint m = in.nextInt()[1]

it n = in.nextInt();//10]

iht[] dp = new intlm+51;//(ITTTT1T]
for(int i=1;i<=n;i++) {

(ITint v = in.nextIntQE/0]

iMEw = in.nextInt();//110]

fOrfint j=v;j<=m;j++)



(ITdpljl = Math.max(dpljl, dplj-vl+w);
ik
[[System.out.printin(dp[m]);

il

gcd

[static int gcd(int a,int b) {
[(Mreturn b==07a:gcd(b,a%b);
0}

lcm

[static int Icm(int a,int b) {
[(Mreturn a*b/gcd(a,b);
ar

[static void f(int[] a) {

[[int n = a.length;

[[int I=0,r=n-1,ans=0[ATIII1]
While(l<=r) {

[Oint mid =1 + (r-1)/2;
(ITif(ok(almid])) {

(I10r = mid-1;

[IITlans = mid;

[II}telse

10 = mid+1;

ik
[(IISystem.out.printin(ans);
0}

a

[static boolean ok(int x) {



[Mreturn falsefi11]
1

import java.util.Scanner;

public class [T11T] {

[public static void main(String[] args) {
[[IScanner in = new Scanner(System.in);
[[int n = in.nextInt();

(Mint[] sum = new int[n+1];

[Mfor(int i=1;i<=n;i++)

[ITsumli] = sum[i-1] + in.nextInt(ATIT]

0}

[static int n,m,cnt=0;

[Jstatic int[] f = new int[10005]; /ITT1T] flil=i
a

[static int find(int x) {
Mif(f{x]==x)

Treturn x;

(Mreturn f[x] = find(f[x]);

0}

a

Ostatic void union(int x,int y) {
[Mint a = find(x);

[Mint b = find(y);

[Mif(a!=b) {

[ITi[al = b;

ITknt++;



il
0}

Biglnteger[] BigDecimal

import java.math.Biginteger;
public class Main {
public static void main(String[] args) {
/I
Biginteger add1l = new BigInteger("10");
System.out.printin(addl.add(new BigIinteger("20")));

/M
Biginteger subl = new BigInteger("10");
System.out.printin(subl.subtract(new Biginteger("20")));

/1
Biglnteger divl = new Biginteger("10");
System.out.printin(divl.divide(new Biglnteger("20")));

/1
Biginteger mull = new BigInteger("10");
System.out.printin(mull.multiply(new Biginteger("20")));

/M
Biglinteger remainl = new Biginteger("10");

System.out.printin(remainl.remainder(new Biginteger("8")));

//II11]
Biginteger mod = new Biglnteger ("10");
Biginteger pow = new Biginteger ("20");

System.out.printin(pow.modPow(pow,mod));

/I T -1,[0111 1,1 oITh 0
Biglnteger compl = new Biglnteger("10");

System.out.printin(compl.compareTo(new Biginteger("18")));

/{110

Biginteger powerl = new Biginteger("2");



System.out.printin(powerl.pow(10));

annnnn
Biginteger minl = new BigInteger("2");

System.out.printin(minl.min(new BigInteger("-23")));

annnnn
Biglnteger max1l = new Biginteger("2");

System.out.printin(maxl.max(new Biglnteger("-23")));

/I
BigIinteger val = new Biglnteger("123");

System.out.printin(val.intValue());

annnnnn
Biginteger gcdl = new Biginteger("12");
System.out.printin(gcdl.gcd(new Biginteger("6")));

/M
Biginteger negl = new BigInteger("12");
System.out.printin(negl.negate());

/1]
Biginteger and1l = new Biglnteger("10");
System.out.printin(andl.and(new Biglnteger("1")));

/11
Biginteger orl = new BigInteger("10");
System.out.printin(orl.or(new Biginteger("10")));

/M
BigIinteger xorl = new Biginteger("10");

System.out.printin(xorl.xor(new Biginteger("10")));

/0 nIIIO (0IIDo )
Biglnteger decimall = new Biginteger("12");

System.out.printin(decimall.toString(2));

Zannnnnnn
Biginteger absl = new Biglnteger("-12");



System.out.printin(absl.abs());

Zjannnnnnn 1
Biglnteger testBitl = new Biglnteger("4");
System.out.printin(testBitl.testBit(2));

/M 10
Biglnteger moveleftBitl = new Biglnteger("4");
System.out.printin(movelLeftBitl.shiftLeft(1));

/M 10
Biginteger moveRightBitl = new Biginteger("4");
System.out.printin(moveRightBitl.shiftLeft(-1));

/1
Biginteger not = new BigInteger ("10");

System.out.printin(not.not());

//valueOf()[1T]

jZannnnnnnnng|
Biginteger negate = new BigInteger ("10");

System.out.printin(negate.negate());

jnnnnnny
Biginteger prime = new Biglnteger ("10");
System.out.printin(prime.probablePrime());

System.out.printin(prime.nextprobablePrime());

package com.vivo.ars.util;

import java.math.BigDecimal;

/**

* I

*/

public class ArithmeticUtils {

Zannnnnnn
private static final int DEF_DIV_SCALE = 10;



/**

* [T

ES

* @param vl 1]
* @param v2 [1]

* @return 11111
*/

public static double add(double v1, double v2) {
BigDecimal bl = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.add(b2).doubleValue();

[

* (I

*

* @param vl 111

* @param v2 1]

* @return [I1111

*/

public static BigDecimal add(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.add(b2);

[
* I
*
*@param vl [I1]
*@param v2 [I]
* @param scale [T] scale [I1T]
* @return [I1111
*/
public static String add(String v1, String v2, int scale) {

if (scale < 0) {

throw new lllegalArgumentException(
"The scale must be a positive integer or zero");

}

BigDecimal bl = new BigDecimal(vl);



BigDecimal b2 = new BigDecimal(v2);

return bl.add(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

[

* 11T

*

* @param vl 111

* @param v2 1]

* @return [I1111T0

*/

public static double sub(double v1, double v2) {
BigDecimal bl = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.subtract(b2).doubleValue();

/**

* I

*

* @param vl 1]

* @param v2 [1]

* @return 11111

*/

public static BigDecimal sub(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.subtract(b2);

[

* (I

*

* @param vl [I1]

* @param v2  [I]

* @param scale [T] scale [IT]

* @return [T1111J

*/

public static String sub(String v1, String v2, int scale) {
if (scale < 0) {

throw new lllegalArgumentException(



"The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.subtract(b2).setScale(scale, BigDecimal. ROUND_HALF_UP).toString();

[

* (I

*

* @param v1 111

* @param v2 1]

* @return 11111

*/

public static double mul(double v1, double v2) {
BigDecimal bl = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.multiply(b2).doubleValue();

[

* I

*

* @param vl 111

* @param v2 1]

* @return [I11110

*/

public static BigDecimal mul(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.multiply(b2);

/**

* I

*

*@param vl [IT]

* @param v2 [I]

* @param scale [T] scale [11]
* @return [I1111

*/



public static double mul(double v1, double v2, int scale) {
BigDecimal b1l = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return round(bl.multiply(b2).doubleValue(), scale);

/**
* I
*
*@param vl [I7]
*@param v2 1]
* @param scale [I] scale 111
* @return 11111
*/
public static String mul(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.multiply(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

/**
* [0 1O[TTTIITIIT]

*

* @param vl 111
* @param v2 1]

* @return [I1111
*/

public static double div(double v1, double v2) {
return div(vl, v2, DEF_DIV_SCALE);

/**

* AT scale[IT]
* [T

ES




*@param vl [I1]
*@param v2 (1]
* @param scale [T
* @return [I1111T1
*/
public static double div(double v1, double v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException("The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(Double.toString(v1));
BigDecimal b2 = new BigDecimal(Double.toString(v2));
return bl.divide(b2, scale, BigDecimal.ROUND_HALF_UP).doubleValue();

/**

* I scale[IT]
* T

*

*@param vl [I1]
*@param v2 (1]
* @param scale [TTTTTTTITTTIT]
* @return [I1111T1
*/
public static String div(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException("The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(vl);
return bl.divide(b2, scale, BigDecimal.ROUND_HALF_UP).toString();

[
* I

*

*@param v [T

* @param scale [JTTTTTT]

* @return [TTIT11T

*/

public static double round(double v, int scale) {

if (scale < 0) {



throw new lllegalArgumentException("The scale must be a positive integer or zero");
}
BigDecimal b = new BigDecimal(Double.toString(v));
return b.setScale(scale, BigDecimal.ROUND_HALF_UP).doubleValue();

/**

* I

*

*@param v [T

* @param scale [ITTTT1T]

* @return [TIII110

*/

public static String round(String v, int scale) {
if (scale < 0) {

throw new lllegalArgumentException(
"The scale must be a positive integer or zero");

}
BigDecimal b = new BigDecimal(v);

return b.setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

/**
* [0
*
*@param vl [IT]
*@param v2 [I]
* @param scale [ITTT11T]
* @return ]
*/
public static String remainder(String v1, String v2, int scale) {
if (scale < 0) {
throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

return bl.remainder(b2).setScale(scale, BigDecimal.ROUND_HALF_UP).toString();

/**



* 11 BigDecimal
*
*@param vl [IT]
*@param v2 [I]
* @param scale [ITTTT1T]
* @return [I]
*/
public static BigDecimal remainder(BigDecimal v1, BigDecimal v2, int scale) {

if (scale < 0) {

throw new lllegalArgumentException(
"The scale must be a positive integer or zero");
}
return vl.remainder(v2).setScale(scale, BigDecimal.ROUND_HALF_UP);

[

* I

*

* @param v1 111

* @param v2 111

*@return[I] v1[I] v2([ [II true[I] false

*/

public static boolean compare(String v1, String v2) {
BigDecimal bl = new BigDecimal(vl);
BigDecimal b2 = new BigDecimal(v2);

int bj = bl.compareTo(b2);

boolean res;
if (bj > 0)
res = true;
else
res = false;
return res;
}
}
0o #1
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